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QUESTION 1

You are a demand planner and you want to generate forecast for all laptop and desktop products in the US business
unit. You are using standard enterprise and product hierarchy. You have created a demand plan and now you must
define plan scope. 

Identify three valid steps. (Choose three.) 

A. For plan parameters, select forecasting calendar as Gregorian and time level as week. 

B. For forecasting items, select hierarchy as product, level as category level 1, and laptop and desktop categories as
level members. 

C. For plan parameters, select forecasting calendar as Gregorian and time level as month. 

D. For plan organizations, select hierarchy as enterprise, level as country, and US as level member. 

E. For forecasting items, select hierarchy as product, level as product, and all laptop and desktop products as level
members. 

F. For plan organizations, select hierarchy as enterprise, level as business unit, and US and level member. 

Correct Answer: ABD 

Reference: https://docs.oracle.com/cloud/r13_update17c/scmcs_gs/FASOP/FASOP2342266.htm#FASOP2385988 

 

QUESTION 2

Should value in Adjusted Shipments Forecast measure always be equal to the Final Shipments Forecast measure? 

A. Yes, if the adjustment is made below the aggregation level at which it is viewed. 

B. Yes,if the adjustment is made at the same aggregation level at which itis viewed, or below. 

C. No, both measures will always be different. 

D. Yes,if the demand plan is approved and values are locked. 

E. Yes,if the demand plan hasn\\'t been run again after adjustment. 

Correct Answer: B 

 

QUESTION 3

The structure of the Plan Summary Layout is a predefined __________. 

A. Material Plan view 

B. Set of Exceptions 

C. Supply Demand Workbench 
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D. Set of Infotiles 

E. Group of Reports 

Correct Answer: D 

 

QUESTION 4

You ran a demand plan and you are reviewing the shipments forecast value measure. It is always zero for a particular
item. Identify the root cause of this problem. 

A. In planning measures catalog, shipment forecast value measure is not enabled at item and organization level. 

B. In plan parameters, Item List Price marked as primary does not have price defined for the particular item. 

C. In plan parameters, shipment forecast value measure expression is not defined. 

D. In planning measures catalog, shipment forecast measure is not enabled at item and organization level. 

Correct Answer: A 

 

QUESTION 5

Which calendar is supported in the supply planning process but does not support bucketing by week? 

A. Lunisolar 

B. Fiscal 

C. Roman 

D. Gregorian 

E. Julian 

Correct Answer: B 

Reference: https://docs.oracle.com/cloud/farel12/scmcs_gs/FAUPC/FAUPC2137548.htm#FAUPC2137544 
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